
MAN

MAN

MAN

A 1PC

B

C

D

E

F

G

H

I

J

K

L

M

1PC

1PC

4PCS

2PCS

4PCS

1PC

1PC

4PCS

2PCS

8PCS

26+2PCS

20+2PCS

M4*15

M6*16

M8*60

M4*8

M8 N 8PCS



Install�Adjustable�leg,secure�with�bolts.

B

C

D
I

K

N

K

K

K

N

D
I

H

L

Step 1:



Secure�the�leg�with�B�part�and�the�
sidewith�F�part.

E
F

L

Step 2:



Place�the�mounted�bracket�on�the
Rubber�plank�and�secure�it.

Install�the�PDU.

A

M

G

J

Step 3:

Step 4:


	页 1
	页 2
	页 3
	页 4

